## Apple Inc. Education Price Quote

Customer:	Richard Morrison GLASSBORO BOARD OF EDUCATION email: rmorrison@gpsd.us	Apple Inc:	Steve Katrivanos 5505 W Parmer Lane Bldg 7 Austin, TX 78727 email: katrivanos@apple.com
Apple Quote:	2210366677		
Quote Date:	Monday, July 19, 2021		
Quote Valid Until:	Wednesday, August 11, 2021		

## **Quote Comments:**

Please reference Apple Quote number on your Purchase Order.

Apple Corporate Contract Number: 1062153 Customer Contract Number: ESCNJ 18/19-67

Row #	Details & Comments	Qty	Unit List Price	Extended List Price
1	13-inch MacBook Air - Space Gray	10	\$1,708.99	\$17,089.90
	Part Number: Z125			
	Configuration:			
	<ul> <li>065–C99J Apple M1 chip with 8–core CPU, 8–core</li> </ul>			
	GPU and 16-core Neural Engine			
	<ul> <li>065–C99N 16GB unified memory</li> </ul>			
	• 065-C99V 1TB SSD storage			
	065–C9CK Touch ID			
	<ul> <li>065–C9CJ Two Thunderbolt / USB 4 ports</li> </ul>			
	<ul> <li>065-C9CH Force Touch trackpad</li> </ul>			
	<ul> <li>065-C9CL Retina display with True Tone</li> </ul>			
	<ul> <li>065-CC8H Pro Apps Bundle for Education</li> </ul>			
	<ul> <li>065-CC50 Backlit Magic Keyboard – US English</li> </ul>			
	065–C9DK Accessory Kit			
2	4-Year AppleCare+ for Schools – MacBook Air	10	\$199.00	\$1,990.00
	Part Number: S7738LL/A			
3	Mac mini	5	\$1,408.99	\$7,044.95
5	Part Number: Z12N	5	\$1,100.55	<i>\$7,</i> 011.55
	Configuration:			
	065-C9DX Apple M1 chip with 8-core CPU, 8-core			
	GPU and 16-core Neural Engine			
	065–C9F0 16GB unified memory			
	• 065-C9F3 1TB SSD storage			
	065–C9F5 16–core Neural Engine			
	065-C9F6 Gigabit Ethernet			
	065-CC8H Pro Apps Bundle for Education			

• 065-C9G5 Accessory Kit

4	<b>4-Year AppleCare+ for Schools - Mac mini</b> Part Number: S7736LL/A	5	\$129.00	\$645.00
5	<b>12.9-inch iPad Pro Wi-Fi 128GB - Space Gray</b> Part Number: MHNF3LL/A	1	\$999.00	\$999.00
6	<b>4-Year AppleCare+ for Schools - iPad Pro 12.9-inch</b> Part Number: SAYT2LL/A	1	\$229.00	\$229.00
7	<b>Apple Pencil (2nd Generation)</b> Part Number: MU8F2AM/A	1	\$119.00	\$119.00
8	<b>10.9-inch iPad Air Wi-Fi 64GB - Space Gray</b> Part Number: MYFM2LL/A	1	\$549.00	\$549.00
9	<b>4-Year AppleCare+ for Schools - iPad / iPad Air / iPad mini</b> Part Number: S7828LL/A	1	\$109.00	\$109.00
10	<ul> <li>24-inch iMac with Retina 4.5K display: Apple M1 chip with 8-core CPU and 8-core GPU - Silver</li> <li>Part Number: Z12Q</li> <li>Configuration: <ul> <li>065-C9GL Apple M1 chip with 8-core CPU with 4 performance cores and 4 efficiency cores, 8-core GPU, and 16-core Neural Engine</li> <li>065-C9H1 16GB unified memory</li> <li>065-C9GQ 1TB SSD storage</li> <li>065-CCTQ Gigabit Ethernet</li> <li>065-CCTT Two Thunderbolt / USB 4 ports</li> <li>065-C9H8 Magic Mouse</li> <li>065-CC8H Pro Apps Bundle for Education</li> <li>065-C9HF Magic Keyboard with Touch ID - US English</li> <li>065-C9HV Accessory Kit</li> </ul> </li> </ul>	5	\$2,158.99	\$10,794.95
11	<b>4-Year AppleCare+ for Schools - iMac</b> Part Number: S7735LL/A	5	\$169.00	\$845.00
12	<ul> <li>24-inch iMac with Retina 4.5K display: Apple M1 chip with 8-core CPU and 8-core GPU - Green</li> <li>Part Number: Z12U</li> <li>Configuration: <ul> <li>065-C9GL Apple M1 chip with 8-core CPU with 4 performance cores and 4 efficiency cores, 8-core CPU, and 16-core Neural Engine</li> <li>065-C9H1 16GB unified memory</li> <li>065-C9GQ 1TB SSD storage</li> <li>065-CCTQ Gigabit Ethernet</li> <li>065-CCTT Two Thunderbolt / USB 4 ports</li> <li>065-CCTV Two USB-3 ports</li> </ul> </li> </ul>	4	\$2,158.99	\$8,635.96

	<ul> <li>065-C9P3 Magic Mouse</li> <li>065-CC8H Pro Apps Bundle for Education</li> <li>065-C9PQ Magic Keyboard with Touch ID - US English</li> <li>065-C9T9 Accessory Kit</li> </ul>			
13	<b>4-Year AppleCare+ for Schools - iMac</b> Part Number: S7735LL/A	4	\$169.00	\$676.00
14	<ul> <li>24-inch iMac with Retina 4.5K display: Apple M1 chip with 8-core CPU and 8-core GPU - Blue</li> <li>Part Number: Z12W</li> <li>Configuration: <ul> <li>065-C9GL Apple M1 chip with 8-core CPU with 4 performance cores and 4 efficiency cores, 8-core GPU, and 16-core Neural Engine</li> <li>065-C9H1 16GB unified memory</li> <li>065-C9GQ 1TB SSD storage</li> <li>065-CCTQ Gigabit Ethernet</li> <li>065-CCTT Two Thunderbolt / USB 4 ports</li> <li>065-CCTV Two USB-3 ports</li> <li>065-C9P4 Magic Mouse</li> <li>065-C9PT Magic Keyboard with Touch ID - US English</li> <li>065-C9TC Accessory Kit</li> </ul> </li> </ul>	4	\$2,158.99	\$8,635.96
15	<b>4-Year AppleCare+ for Schools - iMac</b> Part Number: S7735LL/A	4	\$169.00	\$676.00
16	<ul> <li>24-inch iMac with Retina 4.5K display: Apple M1 chip with 8-core CPU and 8-core GPU - Pink</li> <li>Part Number: Z12Y</li> <li>Configuration: <ul> <li>065-C9GL Apple M1 chip with 8-core CPU with 4 performance cores and 4 efficiency cores, 8-core GPU, and 16-core Neural Engine</li> <li>065-C9H1 16GB unified memory</li> <li>065-C9GQ 1TB SSD storage</li> <li>065-CCTQ Gigabit Ethernet</li> <li>065-CCTT Two Thunderbolt / USB 4 ports</li> <li>065-CCTV Two USB-3 ports</li> <li>065-CC8H Pro Apps Bundle for Education</li> <li>065-C9PV Magic Keyboard with Touch ID - US English</li> <li>065-C9TD Accessory Kit</li> </ul> </li> </ul>	4	\$2,158.99	\$8,635.96
17	<b>4-Year AppleCare+ for Schools - iMac</b> Part Number: S7735LL/A	4	\$169.00	\$676.00
18	24-inch iMac with Retina 4.5K display: Apple M1 chip with 8-core CPU and 8-core GPU - Yellow Part Number: Z12S Configuration:	4	\$2,158.99	\$8,635.96

• 065-C9GL Apple M1 chip with 8-core CPU with 4

performance cores and 4 efficiency cores, 8-core GPU, and 16-core Neural Engine

- 065-C9H1 16GB unified memory
- 065-C9GQ 1TB SSD storage
- 065-CCTQ Gigabit Ethernet
- 065-CCTT Two Thunderbolt / USB 4 ports
- 065-CCTV Two USB-3 ports
- 065-C9P2 Magic Mouse
- 065-CC8H Pro Apps Bundle for Education
- 065-C9PP Magic Keyboard with Touch ID US English
- 065–C9T8 Accessory Kit

19	<b>4-Year AppleCare+ for Schools - iMac</b> Part Number: S7735LL/A	4	\$169.00	\$676.00
20	<ul> <li>24-inch iMac with Retina 4.5K display: Apple M1 chip with 8-core CPU and 8-core GPU - Purple</li> <li>Part Number: Z130</li> <li>Configuration: <ul> <li>065-C9GL Apple M1 chip with 8-core CPU with 4 performance cores and 4 efficiency cores, 8-core CPU, and 16-core Neural Engine</li> <li>065-C9H1 16GB unified memory</li> <li>065-C9GQ 1TB SSD storage</li> <li>065-CCTQ Gigabit Ethernet</li> <li>065-CCTT Two Thunderbolt / USB 4 ports</li> <li>065-CCTV Two USB-3 ports</li> <li>065-C29H no Apps Bundle for Education</li> <li>065-C9PW Magic Keyboard with Touch ID - US English</li> <li>065-C9TF Accessory Kit</li> </ul> </li> </ul>	4	\$2,158.99	\$8,635.96
21	<b>4-Year AppleCare+ for Schools - iMac</b> Part Number: S7735LL/A	4	\$169.00	\$676.00
22	<ul> <li>24-inch iMac with Retina 4.5K display: Apple M1 chip with 8-core CPU and 8-core GPU - Orange</li> <li>Part Number: Z132</li> <li>Configuration: <ul> <li>065-C9GL Apple M1 chip with 8-core CPU with 4 performance cores and 4 efficiency cores, 8-core GPU, and 16-core Neural Engine</li> <li>065-C9H1 16GB unified memory</li> <li>065-C9GQ 1TB SSD storage</li> <li>065-CCTQ Gigabit Ethernet</li> <li>065-CCTT Two Thunderbolt / USB 4 ports</li> <li>065-CCTV Two USB-3 ports</li> <li>065-CC8H Pro Apps Bundle for Education</li> <li>065-C9PX Magic Keyboard with Touch ID – US English</li> <li>065-C9TG Accessory Kit</li> </ul> </li> </ul>	4	\$2,158.99	\$8,635.96
23	4-Year AppleCare+ for Schools - iMac	4	\$169.00	\$676.00

Part Number: S7735LL/A

Edu List Price Total	\$96,286.56
- Additional Tax	\$0.00
– Estimated Tax	\$0.00
Extended Total Price*	\$96,286.56
*In most cases Extended Total Price does Sales Tax *If applicable, eWaste/Recycling Fees are Standard shipping is complimentary	

Complete your order by one of the following:

- This document has been created for you as Apple Quote ID 2210366677. Please contact your institution's Authorized Purchaser to submit the above quote online. For account access or new account registration, go to <a href="https://ecommerce.apple.com">https://ecommerce.apple.com</a>. Simply go to the Quote area of your Apple Education Online Store, click on it and convert to an order.
  - For registration assistance, call 1.800.800.2775
- If you are unable to submit your order online, please send a copy of this Quote with your Purchase Order via email to <u>institutionorders@apple.com.</u> Be sure to reference the Apple Quote number on the PO to ensure expedited processing of your order.
  - For more information, go to provision C below, for details.

THIS IS A QUOTE FOR THE SALE OF PRODUCTS OR SERVICES. YOUR USE OF THIS QUOTE IS SUBJECT TO THE FOLLOWING PROVISIONS WHICH CAN CHANGE ON SUBSEQUENT QUOTES:

- A. ANY ORDER THAT YOU PLACE IN RESPONSE TO THIS QUOTE WILL BE GOVERNED BY (1) ANY CONTRACT IN EFFECT BETWEEN APPLE INC. ("APPLE") AND YOU AT THE TIME YOU PLACE THE ORDER OR (2), IF YOU DO NOT HAVE A CONTRACT IN EFFECT WITH APPLE, CONTACT contracts@apple.com.
- B. ALL SALES ARE FINAL. PLEASE REVIEW RETURN POLICY BELOW IF YOU HAVE ANY QUESTIONS. IF YOU USE YOUR INSTITUTION'S PURCHASE ORDER FORM TO PLACE AN ORDER IN RESPONSE TO THIS QUOTE, APPLE REJECTS ANY TERMS SET OUT ON THE PURCHASE ORDER THAT ARE INCONSISTENT WITH OR IN ADDITION TO THE TERMS OF YOUR AGREEMENT WITH APPLE.
- C. YOUR ORDER MUST REFER SPECIFICALLY TO THIS QUOTE AND IS SUBJECT TO APPLE'S ACCEPTANCE. ALL FORMAL PURCHASE ORDERS SUBMITTED BY EMAIL MUST SHOW THE INFORMATION BELOW:
  - APPLE INC. AS THE VENDOR
  - BILL-TO NAME AND ADDRESS FOR YOUR APPLE ACCOUNT
  - PHYSICAL SHIP-TO NAME AND ADDRESS (NO PO BOXES)
  - PURCHASE ORDER NUMBER
  - VALID SIGNATURE OF AN AUTHORIZED PURCHASER
  - APPLE PART NUMBER AND/OR DESCRIPTION OF PRODUCT AND QUANTITY
  - TOTAL DOLLAR AMOUNT AUTHORIZED OR UNIT PRICE AND EXTENDED PRICE ON ALL LINE ITEMS
  - CONTACT INFORMATION: NAME, PHONE NUMBER AND EMAIL
- D. UNLESS THIS QUOTE SPECIFIES OTHERWISE, IT REMAINS IN EFFECT UNTIL Wednesday, August 11, 2021 UNLESS APPLE WITHDRAWS IT BEFORE YOU PLACE AN ORDER, BY SENDING NOTICE OF ITS INTENTION TO WITHDRAW THE QUOTE TO YOUR ADDRESS SET OUT IN THE QUOTE.
  - APPLE MAY MODIFY OR CANCEL ANY PROVISION OF THIS QUOTE, OR CANCEL ANY ORDER YOU PLACE PURSUANT TO THIS QUOTE, IF IT CONTAINS A TYPOGRAPHIC OR OTHER ERROR.
- E. THE AMOUNT OF THE VOLUME PURCHASE PROGRAM (VPP) CREDIT SHOWN ON THIS QUOTE WILL ALWAYS BE AT UNIT LIST PRICE VALUE DURING REDEMPTION ON THE VPP STORE.
- F. UNLESS SPECIFIED ABOVE, APPLE'S STANDARD SHIPPING IS INCLUDED IN THE TOTAL PRICE.

Opportunity ID:

https://ecommerce.apple.com Fax:

Terms & Use | Privacy Policy | Return Policy Copyright © 2018 Apple Inc. All rights reserved.

Document rev 10.6.1

Date of last revision - June 20th, 2016